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Learning Goals

Learning Goal Homework Problems
5.4.1 Compute definite integrals using the Fundamental Theorem of 1-44, 77, 78, 86.
Calculus, Part 2 (FTC2).

5.4.2 Find derivatives of area functions (i.e., accumulation functions) | 39-56, 79-83.
using the Fundamental Theorem of Calculus, Part 1 (FTCI1)
5.4.3 Find the area of a region between two graphs of functions. 57-64.

5.4.4 Use the FTC to solve an initial value problem. 65-70, 75, 76.

5.4.5 Use the FTC to solve for unknowns and analyze functions. 71,73, 77-86.
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